Efficiency vs Dxy(PV)
E 0.3
0.09]
S
©0.08
>
20.07
5]
'50.06
g
©0.05

0.04

0.03

0.02

0.0

L LN N LR LN LA LN LRRN L LR

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm

—=— DQM_V0001_R000000001__Global__CMSSW_org

—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_all7
—— DQM_V0001_R000000001__Global__CMSSW_hpt08

[ Efficienc] —— DQM_v0001_R000000001__Global__CMSSW_dt08

€
o
o
a1
L L L L Ly LR LRy LA LR L

040608 1
TP dxy(PV) (cm)

s 0.1
%0.09)
kel

20.08

3
20.07
[

-é’0.0G
3}
0.05]
0.04]
0.03]
0.02
0.0

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)




	Contents
	Page 1


